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MASTER OF COMMERCE (M.Com.)
Term-End Examination
December, 2022

MCO-01 : ORGANISATION THEORY AND
BEHAVIOUR

Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note: Answer any five questions. All questions carry
equal marks.

1. “Organisational Behaviour deals with individual
behaviours in organisations, apart from dealing
with group behaviours and behaviours in
organisation.” Discuss this statement with
examples. 20

2. Describe various steps involved in formulating
strategies for change of employees’ behaviour in
an organisation. 20

3. Explain process of perception and the factors
that influence perception of people in an
organisation. 10+10

4. Discuss in detail the principles of good
communication with suitable examples. 20
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5. (a) What do you mean by conflict in an
organisation ? Describe in detail levels of
conflict that may arise in an organisation.

(b) What measures would you take to resolve
the conflict in an organisation, as a Human
Resource Manager ? Explain. 10+10

6. (a) Describe the role of manager in an
organisation.

(b) Discuss the characteristics of a modern
organisation with suitable example. 10+10

7. Explain ‘Lewin’s Model’ and ‘Continuous Process
Model’ of change process in an organisation with
suitable example. 20

8. Write short notes on any two of the following : 10+10
(a) Basic Elements of Organisational Culture
(b) Building Effective Organisation
(¢) Cross-Cultural Management

(d) Classical Theory of Organisation

9. Critically examine modern theories of
organisation. 20
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